Math 341 Fall 2008 SHOW ALL YOUR WORK Quiz EIGHT
1. We're interested in finding the function f(¢) whose Laplace Transform is

1 e ?

v foree] e [ — et , . > O
F(s) = A(s) — B(s) &S s
1 ) n- /
(a) 2 points. Compute £ ’:—2} = a(t). (Q - :( ‘({
S
(n-N!
I
al) = £ =t
J /
(b) 2 points. If one considers — ag the sum of a geometric series Z ar® with first term ¢ = 1
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and ratio r = e¢™° then show that -————— can be written as
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(¢) ‘>’ points. Recall that L7 [e™® F(s)] = f(t — a)H(t — a). Using the result given in (b), compute
e = b(1).
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(d) & points. Give a sketch of a(t), b(t) and f(t) = a(t) — b(t) below for ¢ > 0 (Use different pairs
of axes for each graph.) éf{) = L¢] a-({ ;- bE) '/
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